Fspressioni con potenze
Periodo 1 - UdA 5-6

Risolvere le seguenti espressioni

1. —3 4 (=2)* — (=2)% — 47

2. (=3 =324+ (=2 = (—2) + (=5)?

3. 52454 (=207 +3-(—2)°

4. 1+ (2= —42 4+ (1 —4)?

5. (=27 (=) + (=5 (=3)

6, (52 =333 —(2-32—22.54+1)

7. (—2)2-34+5- (=2 +3-5)* — (=32 4+ 23 +5)?
8. — (=52 — 14622+ (=3)2- (25 +3)

0. (=2 —(=2"+1) - (11 = 3%) — (=4)2 = (1 — 22)?
10. (—2)3 — (52 =23 .3+ 1) 4 (1° — 23 4 3)?

1. (=23 4+3)2 — (52 = 33)3 . 3+ (22 — 3%) . 32

12, —(32 =2 4+224 12 . 1 -2 +2. (=29



Fispressioni con potenze

1]

SOLUZIONI
Periodo 1 - UdA 5-6

—1

—2

2]

4]

6]

1

10



